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Contents

e Problem Statement
¢ Problem Setu

function HW24 ()

Problem Statement

Problem Setup

clear all
close all
cle

Define parameters

= 1;
g =1;
1 =1;:
M = [m Ot s
0 m];
K = [(6*g)/(7*1) =2* (1-3*m*qg) / (7*m*1) ;...
0 2*g/1];

[p, lambda] = eig(M"-1*K)

eVectl = p(:,1);
lambdal = lambda(l);

eVect2 = p(:,2);
lambda2 = lambda(2);

%0 [eVect2 (1) eVect2(2)]':
v0 [0 0]';
zzero = [x0;v0];

I

n= 1000;
tspan = linspace (0, 20, n);

tMethod I: ODE soln
[t zmatrix] = ode45 (@method, tspan, zzero, [], M, K);

x1l = zmatrix(:,1)
x2 = zmatrix(:,2)

7
;

plot (t,x1,'r',t,x2,'b"):

p =
1.0000 0.4472
0 0.8944
lambda =
0.8571 0
0 2.0000
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2 0f2

=
[m}

[

end

function zdot = method(t, 2z, M, K)
x = z{l:z2)s
v = z(3:4);

xdot = v;
vdot = -M"-1 * K*x;

zdot

Il

[xdot; wvdot];

end
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free response
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end

function zdot = method(t, z, M, K)
x = z(1:2);

v = z(3:4);

xdot = v;

vdot = ~M*=1 * K*x;

zdot = [xdot; vdot];

end
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